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PLAYED AT: Craiglockhart

CARLTON CRICKET CLUB 3rd XI Vs Watsonians 3rd XI

RESULT: Carlton Won by 8 Wickets

ESCA Division 5

DATE: 19th June 2010

'STEEDMAN

-0

PAMN

INNINGS OF: Watsonians 3rd XI| BOWLING
Nol| Batsman [[ How out || Fielder It Bowler Rund| 6s || 4s It Bowler overs|[Mdng| Runs [fwkts|| Nb ]| w ||
1 ||G Burnett* [lbowled || B McKay a3 off s 1 |IB McKay 9 1 26 2l of o
2 ||G Harding [lcaught D Rush [lB McKkay 29 off s 2 [|ID Rush 6] 1 35 2l 2] 3
3 [lo Gaywood [[caught A Fedenczuk [lc Paterson 22 1 2 3 [Is Rae | e 21 of aff ol
4 [[o crummy [loowled [lc Paterson Y of o 4 [|lc Paterson 9 ¢ 6 2l 1 of
5 [IR Gibson [lbowled [[D Rush 14 of 1 5 [lC Gosain 4 o 29 of off o
6 [[M Handyside [[not out It a4l 2l s 6 [[F Whatley of aff 36l of off 2
7 |lE MacKinnon [lbowled [fA Bij of of o 7 |[A Bij a ol a7t 2  off ol
8 [[H Lawrence [[caught K MacPherson [fA Bij iff of o
9 |l Haynes [loowled || [[D Rush Y of o
10 [|A Cockburn [[hot out || It a of 1
11 [IT Russell [ldnb It It If

|[Extras ll(b 15,160, w 8, nb 3) 26] ||

[lroTAL [[(8 wickets, 45 Overs) 185l ||
INNINGS OF: Carlton 3rd XI BOWLING
Nol| Batsman [[ How out || Fielder It Bowler Rund| 6s || 4s It Bowler Overs[[Mdng]| Runs [[wkts|| Nb || w
1 || Paterson [lilbw It |l Harding 19 off 4 1 |G Hardine 5 of 26 il o 1
2 |Is rRae [[hot out || It 82]] ol 13 2 [[M Handyside 5 of 48 of 1ff 1
3 [k MacPherson [[caught G Burnett 0 Gaywood gl of =2 3 [lo Gaywood 3 0l 35 1l o] 3
4 IR Burns [[not out a8l 3l 5 4 |[H Lawrence 4 of 26 of 1 o
5 [[A Bij [[dnb 5 [ID Crummey 2 of 22 of of ol
6 A Aslam [ldnb 6 JIN Cockburn 2 of 12 of of of
7 |IF whatley [[dnb 7 |IR Gibson 1 ol 8 of o || 2ff
8 [[A Fedenczuk [[dnb
9 [[b Rush [[dnb
10 [|B McKay [[dnb
11 [lc Gosain [[dnb

[lExtras [l(b 10, 1b 2, w 13, nb 6) 31

[roTAL [l(2 wickets, 22.2 Overs) 188



